Bid Abstract

Riverside County Flood Control & Water Conservation District

ENGINEER'S ESTIMATE

GWINCO CONSTRUCTION

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: LITTLE LAKE MDP LINE B, STAGE 1; STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| | | | | | & ENGINEE | ERING, INC. | DELICE AN | |
|--|------|----------|--------------|--------------|--------------|--------------|------------------|--------------|
| Item No. & Description | Unit | Quantity | Unit Bid | Total Bid | Unit Bid | Total Bid | Unit Bid | Total Bid |
| 1 MOBILIZATION | L.S. | 1 | \$140,000.00 | \$140,000.00 | \$346,315.00 | \$346,315.00 | \$50,000.00 | \$50,000.00 |
| 2 WATER CONTROL | L.S. | 1 | \$30,000.00 | \$30,000.00 | \$20,000.00 | \$20,000.00 | \$10,000.00 | \$10,000.00 |
| 3 TRAFFIC CONTROL | L.S. | 1 | \$110,000.00 | \$110,000.00 | \$50,000.00 | \$50,000.00 | \$100,000.00 | \$100,000.00 |
| 4 CLEARING AND MISCELLANEOUS WORK | L.S. | 1 | \$115,000.00 | \$115,000.00 | \$50,000.00 | \$50,000.00 | \$50,000.00 | \$50,000.00 |
| 5 EXCAVATION | C.Y. | 47,938 | \$15.00 | \$719,070.00 | \$2.00 | \$95,876.00 | \$13.00 | \$623,194.00 |
| 6 CHANNEL EXCAVATION | C.Y. | 298 | \$25.00 | \$7,450.00 | \$45.00 | \$13,410.00 | \$20.00 | \$5,960.00 |
| 7 HOT MIX ASPHALT EXCAVATION | C.Y. | 758 | \$15.00 | \$11,370.00 | \$2.00 | \$1,516.00 | \$60.00 | \$45,480.00 |
| 8 BACKFILL | C.Y. | 19,439 | \$28.00 | \$544,292.00 | \$10.00 | \$194,390.00 | \$13.00 | \$252,707.00 |
| 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL | C.Y. | 5,181 | \$78.00 | \$404,118.00 | \$65.00 | \$336,765.00 | \$100.00 | \$518,100.00 |
| 10 FILTER MATERIAL | C.Y. | 1,625 | \$40.00 | \$65,000.00 | \$30.00 | \$48,750.00 | \$30.00 | \$48,750.00 |
| 11 GRAVEL FILTER MATERIAL | C.Y. | 35 | \$62.00 | \$2,170.00 | \$30.00 | \$1,050.00 | \$70.00 | \$2,450.00 |
| 12 SAND BEDDING | C.Y. | 53 | \$15.00 | \$795.00 | \$30.00 | \$1,590.00 | \$100.00 | \$5,300.00 |
| 13 TRENCH SAFETY SYSTEM | L.S. | 1 | \$220,000.00 | \$220,000.00 | \$100,000.00 | \$100,000.00 | \$384,846.00 | \$384,846.00 |
| 14 CLASS "A" CONCRETE, MERIDIAN STREET CHANNEL TRANSITION | C.Y. | 24 | \$600.00 | \$14,400.00 | \$1,400.00 | \$33,600.00 | \$1,200.00 | \$28,800.00 |
| 15 CLASS "A" CONCRETE, MINOR STRUCTURES | C.Y. | 163 | \$1,000.00 | \$163,000.00 | \$1,200.00 | \$195,600.00 | \$1,500.00 | \$244,500.00 |
| 16 CLASS "A" CONCRETE, CHANNEL PAVING | C.Y. | 24 | \$400.00 | \$9,600.00 | \$1,100.00 | \$26,400.00 | \$900.00 | \$21,600.00 |
| 17 CLASS "B" CONCRETE, PARAPET WALL | L.F. | 12 | \$50.00 | \$600.00 | \$260.00 | \$3,120.00 | \$500.00 | \$6,000.00 |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS | C.Y. | 60 | \$600.00 | \$36,000.00 | \$475.00 | \$28,500.00 | \$600.00 | \$36,000.00 |
| 19 JUNCTION STRUCTURE NO. 2 | EACH | 3 | \$2,600.00 | \$7,800.00 | \$2,500.00 | \$7,500.00 | \$1,600.00 | \$4,800.00 |
| 20 MANHOLE NO. 2 | EACH | 5 | \$6,600.00 | \$33,000.00 | \$4,500.00 | \$22,500.00 | \$6,000.00 | \$30,000.00 |
| 21 MANHOLE NO. 3 | EACH | 10 | \$4,000.00 | \$40,000.00 | \$2,500.00 | \$25,000.00 | \$2,500.00 | \$25,000.00 |
| 22 MANHOLE NO. 4 | EACH | 2 | \$7,700.00 | \$15,400.00 | \$5,500.00 | \$11,000.00 | \$8,000.00 | \$16,000.00 |
| 23 18" RCP, CLASS IV | L.F. | 149 | \$85.00 | \$12,665.00 | \$310.00 | \$46,190.00 | \$110.00 | \$16,390.00 |
| 24 24" RCP, CLASS IV | L.F. | 372 | \$105.00 | \$39,060.00 | \$165.00 | \$61,380.00 | \$120.00 | \$44,640.00 |
| 25 42" RCP, 2000D | L.F. | 1,298 | \$155.00 | \$201,190.00 | \$205.00 | \$266,090.00 | \$140.00 | \$181,720.00 |
| 26 60" RCP, 1500D | L.F. | 125 | \$200.00 | \$25,000.00 | \$308.00 | \$38,500.00 | \$200.00 | \$25,000.00 |
| 27 AGGREGATE BASE, CLASS 2 | C.Y. | 1,359 | \$65.00 | \$88,335.00 | \$65.00 | \$88,335.00 | \$120.00 | \$163,080.00 |
| 28 HOT MIX ASPHALT (HMA), TYPE A | TONS | 3,236 | \$100.00 | \$323,600.00 | \$110.00 | \$355,960.00 | \$140.00 | \$453,040.00 |



 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | ENGINEER'S | ESTIMATE | GWINCO CON & ENGINEE | | BELCZAK | & SONS, INC. |
|---|---|----------|-------------|--------------|-------------------------|-------------|-------------|--------------|
| tem No. & Description | Unit | Quantity | Unit Bid | Total Bid | Unit Bid | Total Bid | Unit Bid | Total Bid |
| 29 HOT MIX ASPHALT (HMA) | , TYPE C TONS | 308 | \$110.00 | \$33,880.00 | \$110.00 | \$33,880.00 | \$180.00 | \$55,440.00 |
| 30 TEMPORARY RESURFACE | NG TONS | 5 747 | \$95.00 | \$70,965.00 | \$84.00 | \$62,748.00 | \$100.00 | \$74,700.00 |
| 31 6-FOOT CHAIN LINK FENC | | 160 | \$20.00 | \$3,200.00 | \$35.00 | \$5,600.00 | \$60.00 | \$9,600.00 |
| 32 3-FOOT CABLE RAILING | L.F. | 12 | \$30.00 | \$360.00 | \$145.00 | \$1,740.00 | \$140.00 | \$1,680.00 |
| 33 MISCELLANEOUS IRON A | | 23,905 | \$2.00 | \$47,810.00 | \$1.40 | \$33,467.00 | \$1.00 | \$23,905.00 |
| 34 REMOVE BURIED CONCRE | | 1 | \$18,000.00 | \$18,000.00 | \$20,000.00 | \$20,000.00 | \$10,000.00 | \$10,000.00 |
| 35 REMOVE EXISTING ABAN WATERLINE OUTSIDE RCI LIMITS | | 1 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 |
| 36 EXPOSE LHMWD 16" WAT JOINTS RESTRAINING | ERLINE FOR L.S. | 1 | \$3,000.00 | \$3,000.00 | \$17,000.00 | \$17,000.00 | \$9,000.00 | \$9,000.00 |
| 37 REMOVE EXISTING 78" RC BASIN AND CONNECTOR | 2 · · · · · · · · · · · · · · · · · · · | 1 | \$34,000.00 | \$34,000.00 | \$5,000.00 | \$5,000.00 | \$20,000.00 | \$20,000.00 |
| 38 EXCAVATION AND DISPO UNCONTROLLED FILL | SAL OF C.Y. | 1,114 | \$95.00 | \$105,830.00 | \$50.00 | \$55,700.00 | \$70.00 | \$77,980.00 |
| 39 SUSPECT MATERIAL STAC | GING AREA L.S. | 1 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$10,000.00 | \$10,000.00 |
| 40 TRAFFIC LOOP DETECTOR | L.F. | 1,122 | \$30.00 | \$33,660.00 | \$10.00 | \$11,220.00 | \$8.00 | \$8,976.00 |
| REPLACEMENT | | | | | | | | |
| 41 TRAFFIC SIGNAL CONDU | | 54 | \$100.00 | \$5,400.00 | \$60.00 | \$3,240.00 | \$125.00 | \$6,750.00 |
| 42 HIGH SENSITIVITY VEHIC | | | \$800.00 | \$2,400.00 | \$1,300.00 | \$3,900.00 | \$1,700.00 | \$5,100.00 |
| 43 TRAFFIC SIGNAL PULL BC | | | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$700.00 | \$700.00 |
| 44 REMODEL 4-INCH VITRIFI (VCP) HOUSE CONNECTIO | | 50 | \$140.00 | \$7,000.00 | \$200.00 | \$10,000.00 | \$150.00 | \$7,500.00 |
| 45 ADJUST MANHOLE TO GR | ADE EACH | H 3 | \$1,000.00 | \$3,000.00 | \$1,115.00 | \$3,345.00 | \$300.00 | \$900.00 |
| 46 METAL BEAM GUARD RA | LING L.F. | 110 | \$100.00 | \$11,000.00 | \$60.00 | \$6,600.00 | \$75.00 | \$8,250.00 |
| 47 DUST ABATEMENT | L.S. | 1 | \$25,000.00 | \$25,000.00 | \$5,000.00 | \$5,000.00 | \$12,000.00 | \$12,000.00 |
| 48 STORMWATER AND NON- POLLUTION CONTROL - LI MDP LINE B, STAGE 1 | | 1 | \$40,000.00 | \$40,000.00 | \$20,000.00 | \$20,000.00 | \$15,000.00 | \$15,000.00 |
| 49 NON-STORMWATER DISC DEWATERING - LITTLE LA B, STAGE 1 | | 1 | \$4,000.00 | \$4,000.00 | \$1,500.00 | \$1,500.00 | \$100.00 | \$100.00 |

Page 2 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | ENGINEER'S | ESTIMATE | | NSTRUCTION ERING, INC. | BELCZAK | & SONS, INC. |
|---|---------------------|----------------|--------------------------------|----------------------------------|------------------------|----------------------------------|------------------------|----------------------------------|
| <i>Item No. & Description</i> 50 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | <i>Unit</i> L.S. | Quantity 1 | <i>Unit Bid</i> \$10,000.00 | <i>Total Bid</i> \$10,000.00 | Unit Bid \$5,000.00 | Total Bid \$5,000.00 | Unit Bid \$5,000.00 | <i>Total Bid</i> \$5,000.00 |
| 51 NON-STORMWATER DISCHARGE OR DEWATERING - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | L.S. | 1 | \$1,000.00 | \$1,000.00 | \$1,500.00 | \$1,500.00 | \$100.00 | \$100.00 |
| 52 10'W x 8'H PRCB COVER < or = 10' 53 10'W x 8'H PRCB COVER > 10' | L.F. L.F. | 3,300 1,500 | \$750.00 \$800.00 | \$2,475,000.00 \$1,200,000.00 | \$740.00 \$780.00 | \$2,442,000.00 \$1,170,000.00 | \$700.00 \$800.00 | \$2,310,000.00 \$1,200,000.00 |
| | | | | \$7,524,420.00 | | \$6,398,777.00 | • | \$7,271,038.00 |

Page 3 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | WEKA, | INC. | GRFCO |), INC. | | PLE VALLEY UCTION, INC. |
|--|------|----------|--------------|--------------|--------------|--------------|--------------|----------------------------|
| Item No. & Description | Unit | Quantity | Unit Bid | Total Bid | Unit Bid | Total Bid | Unit Bid | Total Bid |
| 1 MOBILIZATION | L.S. | 1 | \$181,366.00 | \$181,366.00 | \$100,000.00 | \$100,000.00 | \$297,000.00 | \$297,000.00 |
| 2 WATER CONTROL | L.S. | 1 | \$28,211.00 | \$28,211.00 | \$5,000.00 | \$5,000.00 | \$55,000.00 | \$55,000.00 |
| 3 TRAFFIC CONTROL | L.S. | 1 | \$53,952.00 | \$53,952.00 | \$25,000.00 | \$25,000.00 | \$119,500.00 | \$119,500.00 |
| 4 CLEARING AND MISCELLANEOUS WORK | L.S. | 1 | \$47,208.00 | \$47,208.00 | \$10,000.00 | \$10,000.00 | \$19,280.00 | \$19,280.00 |
| 5 EXCAVATION | C.Y. | 47,938 | \$15.00 | \$719,070.00 | \$10.00 | \$479,380.00 | \$19.94 | \$955,883.72 |
| 6 CHANNEL EXCAVATION | C.Y. | 298 | \$35.00 | \$10,430.00 | \$10.00 | \$2,980.00 | \$80.70 | \$24,048.60 |
| 7 HOT MIX ASPHALT EXCAVATION | C.Y. | 758 | \$25.00 | \$18,950.00 | \$12.00 | \$9,096.00 | \$62.00 | \$46,996.00 |
| 8 BACKFILL | C.Y. | 19,439 | \$10.00 | \$194,390.00 | \$8.00 | \$155,512.00 | \$20.50 | \$398,499.50 |
| 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL | C.Y. | 5,181 | \$97.00 | \$502,557.00 | \$75.00 | \$388,575.00 | \$99.40 | \$514,991.40 |
| 10 FILTER MATERIAL | C.Y. | 1,625 | \$55.00 | \$89,375.00 | \$40.00 | \$65,000.00 | \$36.67 | \$59,588.75 |
| 11 GRAVEL FILTER MATERIAL | C.Y. | 35 | \$52.00 | \$1,820.00 | \$40.00 | \$1,400.00 | \$79.50 | \$2,782.50 |
| 12 SAND BEDDING | C.Y. | 53 | \$34.00 | \$1,802.00 | \$30.00 | \$1,590.00 | \$117.80 | \$6,243.40 |
| 13 TRENCH SAFETY SYSTEM | L.S. | 1 | \$101,160.00 | \$101,160.00 | \$910,000.00 | \$910,000.00 | \$96,000.00 | \$96,000.00 |
| 14 CLASS "A" CONCRETE, MERIDIAN STREET CHANNEL TRANSITION | C.Y. | 24 | \$885.00 | \$21,240.00 | \$1,000.00 | \$24,000.00 | \$3,670.00 | \$88,080.00 |
| 15 CLASS "A" CONCRETE, MINOR STRUCTURES | C.Y. | 163 | \$1,333.00 | \$217,279.00 | \$1,000.00 | \$163,000.00 | \$2,107.00 | \$343,441.00 |
| 16 CLASS "A" CONCRETE, CHANNEL PAVING | C.Y. | 24 | \$885.00 | \$21,240.00 | \$1,000.00 | \$24,000.00 | \$1,397.00 | \$33,528.00 |
| 17 CLASS "B" CONCRETE, PARAPET WALL | L.F. | 12 | \$561.00 | \$6,732.00 | \$1,000.00 | \$12,000.00 | \$651.00 | \$7,812.00 |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS | C.Y. | 60 | \$740.00 | \$44,400.00 | \$500.00 | \$30,000.00 | \$579.00 | \$34,740.00 |
| 19 JUNCTION STRUCTURE NO. 2 | EACH | 3 | \$3,300.00 | \$9,900.00 | \$5,000.00 | \$15,000.00 | \$3,402.00 | \$10,206.00 |
| 20 MANHOLE NO. 2 | EACH | 5 | \$7,000.00 | \$35,000.00 | \$5,000.00 | \$25,000.00 | \$9,930.00 | \$49,650.00 |
| 21 MANHOLE NO. 3 | EACH | 10 | \$4,000.00 | \$40,000.00 | \$2,000.00 | \$20,000.00 | \$4,060.00 | \$40,600.00 |
| 22 MANHOLE NO. 4 | EACH | 2 | \$6,800.00 | \$13,600.00 | \$5,000.00 | \$10,000.00 | \$6,760.00 | \$13,520.00 |
| 23 18" RCP, CLASS IV | L.F. | 149 | \$370.00 | \$55,130.00 | \$140.00 | \$20,860.00 | \$204.30 | \$30,440.70 |
| 24 24" RCP, CLASS IV | L.F. | 372 | \$407.00 | \$151,404.00 | \$150.00 | \$55,800.00 | \$210.40 | \$78,268.80 |
| 25 42" RCP, 2000D | L.F. | 1,298 | \$350.00 | \$454,300.00 | \$175.00 | \$227,150.00 | \$158.00 | \$205,084.00 |
| 26 60" RCP, 1500D | L.F. | 125 | \$488.00 | \$61,000.00 | \$400.00 | \$50,000.00 | \$415.00 | \$51,875.00 |
| 27 AGGREGATE BASE, CLASS 2 | C.Y. | 1,359 | \$50.00 | \$67,950.00 | \$42.00 | \$57,078.00 | \$739.00 | \$1,004,301.00 |
| 28 HOT MIX ASPHALT (HMA), TYPE A | TONS | 3,236 | \$104.00 | \$336,544.00 | \$88.00 | \$284,768.00 | \$137.60 | \$445,273.60 |

Page 4 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| Bid | <i>Open Date:</i> 07/22/2014 | | | WEKA, | INC. | GRFCO | , INC. | | LE VALLEY JCTION, INC. |
|--------|---|------|----------|-------------|--------------|-------------|-------------|--------------|---------------------------|
| Item N | No. & Description | Unit | Quantity | Unit Bid | Total Bid | Unit Bid | Total Bid | Unit Bid | Total Bid |
| 29 | HOT MIX ASPHALT (HMA), TYPE C | TONS | 308 | \$180.00 | \$55,440.00 | \$98.00 | \$30,184.00 | \$133.50 | \$41,118.00 |
| 30 | TEMPORARY RESURFACING | TONS | 747 | \$118.00 | \$88,146.00 | \$100.00 | \$74,700.00 | \$115.50 | \$86,278.50 |
| 31 | 6-FOOT CHAIN LINK FENCE | L.F. | 160 | \$23.00 | \$3,680.00 | \$60.00 | \$9,600.00 | \$33.13 | \$5,300.80 |
| 32 | 3-FOOT CABLE RAILING | L.F. | 12 | \$39.00 | \$468.00 | \$100.00 | \$1,200.00 | \$136.00 | \$1,632.00 |
| 33 | MISCELLANEOUS IRON AND STEEL | LBS. | 23,905 | \$1.80 | \$43,029.00 | \$3.00 | \$71,715.00 | \$1.38 | \$32,988.90 |
| 34 | REMOVE BURIED CONCRETE SLAB | L.S. | 1 | \$18,000.00 | \$18,000.00 | \$3,000.00 | \$3,000.00 | \$12,480.00 | \$12,480.00 |
| | REMOVE EXISTING ABANDONED 8" WATERLINE OUTSIDE RCB TRENCH LIMITS | L.S. | 1 | \$25,000.00 | \$25,000.00 | \$5,000.00 | \$5,000.00 | \$23,310.00 | \$23,310.00 |
| | EXPOSE LHMWD 16" WATERLINE FOR JOINTS RESTRAINING | L.S. | 1 | \$11,000.00 | \$11,000.00 | \$15,000.00 | \$15,000.00 | \$17,380.00 | \$17,380.00 |
| | REMOVE EXISTING 78" RCP, CATCH BASIN AND CONNECTOR PIPE | L.S. | 1 | \$16,500.00 | \$16,500.00 | \$25,000.00 | \$25,000.00 | \$47,600.00 | \$47,600.00 |
| | EXCAVATION AND DISPOSAL OF UNCONTROLLED FILL | C.Y. | 1,114 | \$98.00 | \$109,172.00 | \$20.00 | \$22,280.00 | \$37.42 | \$41,685.88 |
| 39 | SUSPECT MATERIAL STAGING AREA | L.S. | 1 | \$5,500.00 | \$5,500.00 | \$1,000.00 | \$1,000.00 | \$142,500.00 | \$142,500.00 |
| | TRAFFIC LOOP DETECTOR REPLACEMENT | L.F. | 1,122 | \$9.00 | \$10,098.00 | \$40.00 | \$44,880.00 | \$7.25 | \$8,134.50 |
| 41 | TRAFFIC SIGNAL CONDUIT | L.F. | 54 | \$58.00 | \$3,132.00 | \$125.00 | \$6,750.00 | \$105.00 | \$5,670.00 |
| 42 | HIGH SENSITIVITY VEHICLE DETECTORS | EACH | 3 | \$1,300.00 | \$3,900.00 | \$1,000.00 | \$3,000.00 | \$1,371.00 | \$4,113.00 |
| 43 | TRAFFIC SIGNAL PULL BOX | EACH | 1 | \$900.00 | \$900.00 | \$1,000.00 | \$1,000.00 | \$682.50 | \$682.50 |
| | REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION | L.F. | 50 | \$155.00 | \$7,750.00 | \$100.00 | \$5,000.00 | \$466.30 | \$23,315.00 |
| 45 | ADJUST MANHOLE TO GRADE | EACH | 3 | \$521.00 | \$1,563.00 | \$500.00 | \$1,500.00 | \$607.00 | \$1,821.00 |
| 46 | METAL BEAM GUARD RAILING | L.F. | 110 | \$50.00 | \$5,500.00 | \$100.00 | \$11,000.00 | \$63.50 | \$6,985.00 |
| 47 | DUST ABATEMENT | L.S. | 1 | \$10,000.00 | \$10,000.00 | \$5,000.00 | \$5,000.00 | \$164,700.00 | \$164,700.00 |
| | STORMWATER AND NON-STORMWATER POLLUTION CONTROL - LITTLE LAKE MDP LINE B, STAGE 1 | L.S. | 1 | \$7,500.00 | \$7,500.00 | \$5,000.00 | \$5,000.00 | \$20,700.00 | \$20,700.00 |
| | NON-STORMWATER DISCHARGE OR DEWATERING - LITTLE LAKE MDP LINE B, STAGE 1 | L.S. | 1 | \$2,500.00 | \$2,500.00 | \$5,000.00 | \$5,000.00 | \$11,250.00 | \$11,250.00 |

Page 5 of 12

Project Number: 4-0-0265-01 **Bid Open Date:** 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | WEKA, | INC. | GRFC | O, INC. | | PLE VALLEY UCTION, INC. |
|---|---------------------|----------------------|----------------------------|--------------------------------|-------------------------------|--------------------------------|--------------------------------|------------------------------|
| <i>Item No. & Description</i> 50 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | <i>Unit</i> L.S. | Quantity 1 | <i>Unit Bid</i> \$3,500.00 | <i>Total Bid</i> \$3,500.00 | Unit Bid \$5,000.00 | Total Bid \$5,000.00 | Unit Bid \$14,930.00 | <i>Total Bid</i> \$14,930.00 |
| 51 NON-STORMWATER DISCHARGE OR DEWATERING - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | L.S. | 1 | \$1,500.00 | \$1,500.00 | \$5,000.00 | \$5,000.00 | \$11,170.00 | \$11,170.00 |
| 52 10'W x 8'H PRCB COVER < or = 10' | L.F. | 3,300 | \$813.00 | \$2,682,900.00 | \$900.00 | \$2,970,000.00 | \$549.00 | \$1,811,700.00 |
| 53 10'W x 8'H PRCB COVER > 10' | L.F. | 1,500 | \$915.00 | \$1,372,500.00 | \$1,000.00 | \$1,500,000.00 | \$549.00 | \$823,500.00 |
| | | | | \$7,975,188.00 | | \$7,998,998.00 | | \$8,393,579.05 |

Page 6 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | UTAH PA CONSTRUC | | TC CONST COMPA | | | RUCTION CO., NC. |
|--|------|----------|---------------------|----------------|-------------------|--------------|--------------|---------------------|
| Item No. & Description | Unit | Quantity | Unit Bid | Total Bid | Unit Bid | Total Bid | Unit Bid | Total Bid |
| 1 MOBILIZATION | L.S. | 1 | \$200,000.00 | \$200,000.00 | \$200,000.00 | \$200,000.00 | \$100,000.00 | \$100,000.00 |
| 2 WATER CONTROL | L.S. | 1 | \$20,000.00 | \$20,000.00 | \$15,000.00 | \$15,000.00 | \$25,000.00 | \$25,000.00 |
| 3 TRAFFIC CONTROL | L.S. | 1 | \$72,000.00 | \$72,000.00 | \$100,000.00 | \$100,000.00 | \$150,000.00 | \$150,000.00 |
| 4 CLEARING AND MISCELLANEOUS WORK | L.S. | 1 | \$41,000.00 | \$41,000.00 | \$20,000.00 | \$20,000.00 | \$175,000.00 | \$175,000.00 |
| 5 EXCAVATION | C.Y. | 47,938 | \$35.00 | \$1,677,830.00 | \$14.00 | \$671,132.00 | \$12.00 | \$575,256.00 |
| 6 CHANNEL EXCAVATION | C.Y. | 298 | \$53.00 | \$15,794.00 | \$48.00 | \$14,304.00 | \$15.00 | \$4,470.00 |
| 7 HOT MIX ASPHALT EXCAVATION | C.Y. | 758 | \$46.00 | \$34,868.00 | \$80.00 | \$60,640.00 | \$35.00 | \$26,530.00 |
| 8 BACKFILL | C.Y. | 19,439 | \$17.00 | \$330,463.00 | \$10.00 | \$194,390.00 | \$15.00 | \$291,585.00 |
| 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL | C.Y. | 5,181 | \$85.00 | \$440,385.00 | \$80.00 | \$414,480.00 | \$65.00 | \$336,765.00 |
| 10 FILTER MATERIAL | C.Y. | 1,625 | \$40.00 | \$65,000.00 | \$58.00 | \$94,250.00 | \$30.00 | \$48,750.00 |
| 11 GRAVEL FILTER MATERIAL | C.Y. | 35 | \$44.00 | \$1,540.00 | \$79.00 | \$2,765.00 | \$45.00 | \$1,575.00 |
| 12 SAND BEDDING | C.Y. | 53 | \$39.00 | \$2,067.00 | \$64.00 | \$3,392.00 | \$20.00 | \$1,060.00 |
| 13 TRENCH SAFETY SYSTEM | L.S. | 1 | \$175,000.00 | \$175,000.00 | \$100,000.00 | \$100,000.00 | \$145,000.00 | \$145,000.00 |
| 14 CLASS "A" CONCRETE, MERIDIAN STREET CHANNEL TRANSITION | C.Y. | 24 | \$3,300.00 | \$79,200.00 | \$1,110.00 | \$26,640.00 | \$1,500.00 | \$36,000.00 |
| 15 CLASS "A" CONCRETE, MINOR STRUCTURES | C.Y. | 163 | \$1,100.00 | \$179,300.00 | \$1,650.00 | \$268,950.00 | \$1,500.00 | \$244,500.00 |
| 16 CLASS "A" CONCRETE, CHANNEL PAVING | C.Y. | 24 | \$610.00 | \$14,640.00 | \$760.00 | \$18,240.00 | \$1,000.00 | \$24,000.00 |
| 17 CLASS "B" CONCRETE, PARAPET WALL | L.F. | 12 | \$320.00 | \$3,840.00 | \$600.00 | \$7,200.00 | \$950.00 | \$11,400.00 |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS | C.Y. | 60 | \$1,600.00 | \$96,000.00 | \$500.00 | \$30,000.00 | \$700.00 | \$42,000.00 |
| 19 JUNCTION STRUCTURE NO. 2 | EACH | 3 | \$2,400.00 | \$7,200.00 | \$3,700.00 | \$11,100.00 | \$1,500.00 | \$4,500.00 |
| 20 MANHOLE NO. 2 | EACH | 5 | \$5,800.00 | \$29,000.00 | \$6,500.00 | \$32,500.00 | \$5,000.00 | \$25,000.00 |
| 21 MANHOLE NO. 3 | EACH | 10 | \$2,900.00 | \$29,000.00 | \$3,300.00 | \$33,000.00 | \$3,500.00 | \$35,000.00 |
| 22 MANHOLE NO. 4 | EACH | 2 | \$6,200.00 | \$12,400.00 | \$10,800.00 | \$21,600.00 | \$7,000.00 | \$14,000.00 |
| 23 18" RCP, CLASS IV | L.F. | 149 | \$140.00 | \$20,860.00 | \$260.00 | \$38,740.00 | \$75.00 | \$11,175.00 |
| 24 24" RCP, CLASS IV | L.F. | 372 | \$90.00 | \$33,480.00 | \$168.00 | \$62,496.00 | \$85.00 | \$31,620.00 |
| 25 42" RCP, 2000D | L.F. | 1,298 | \$130.00 | \$168,740.00 | \$200.00 | \$259,600.00 | \$145.00 | \$188,210.00 |
| 26 60" RCP, 1500D | L.F. | 125 | \$320.00 | \$40,000.00 | \$350.00 | \$43,750.00 | \$220.00 | \$27,500.00 |
| 27 AGGREGATE BASE, CLASS 2 | C.Y. | 1,359 | \$120.00 | \$163,080.00 | \$154.00 | \$209,286.00 | \$45.00 | \$61,155.00 |
| 28 HOT MIX ASPHALT (HMA), TYPE A | TONS | 3,236 | \$145.00 | \$469,220.00 | \$140.00 | \$453,040.00 | \$105.00 | \$339,780.00 |

Page 7 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | UTAH PAG CONSTRUCT | | TC CONST COMPAN | | | RUCTION CO., NC. |
|---|--------------------------------------|-------------------------------|---|---|---|--|---|---|
| <i>tem No. & Description</i> HOT MIX ASPHALT (HMA), TYPE C TEMPORARY RESURFACING | <i>Unit</i> TONS TONS | Quantity 308 747 | <i>Unit Bid</i> \$240.00 \$105.00 | <i>Total Bid</i> \$73,920.00 \$78,435.00 | <i>Unit Bid</i> \$140.00 \$130.00 | <i>Total Bid</i> \$43,120.00 \$97,110.00 | <i>Unit Bid</i> \$225.00 \$95.00 | <i>Total Bid</i> \$69,300.00 \$70,965.00 |
| 31 6-FOOT CHAIN LINK FENCE 32 3-FOOT CABLE RAILING 33 MISCELLANEOUS IRON AND STEEL 34 REMOVE BURIED CONCRETE SLAB 35 REMOVE EXISTING ABANDONED 8" WATERLINE OUTSIDE RCB TRENCH LIMITS | L.F. L.F. LBS. L.S. L.S. | 160 12 23,905 1 1 | \$50.00 \$138.00 \$1.20 \$18,000.00 \$11,000.00 | \$8,000.00 \$1,656.00 \$28,686.00 \$18,000.00 \$11,000.00 | \$70.00 \$200.00 \$1.50 \$22,000.00 \$38,200.00 | \$11,200.00 \$2,400.00 \$35,857.50 \$22,000.00 \$38,200.00 | \$35.00 \$200.00 \$3.00 \$35,000.00 \$25,000.00 | \$5,600.00 \$2,400.00 \$71,715.00 \$35,000.00 \$25,000.00 |
| 36 EXPOSE LHMWD 16" WATERLINE FOR JOINTS RESTRAINING 37 REMOVE EXISTING 78" RCP, CATCH BASIN AND CONNECTOR PIPE | L.S. L.S. | 1 | \$8,000.00 \$18,500.00 | \$8,000.00 \$18,500.00 | \$12,000.00 \$28,000.00 | \$12,000.00 \$28,000.00 | \$45,000.00 \$15,950.00 | \$45,000.00 \$15,950.00 |
| 38 EXCAVATION AND DISPOSAL OF UNCONTROLLED FILL 39 SUSPECT MATERIAL STAGING AREA 40 TRAFFIC LOOP DETECTOR REPLACEMENT | C.Y. L.S. L.F. | 1,114 1 1,122 | \$28.00 \$7,500.00 \$8.00 | \$31,192.00 \$7,500.00 \$8,976.00 | \$100.00 \$9,000.00 \$10.00 | \$111,400.00 \$9,000.00 \$11,220.00 | \$25.00 \$30,000.00 \$15.00 | \$27,850.00 \$30,000.00 \$16,830.00 |
| 41 TRAFFIC SIGNAL CONDUIT 42 HIGH SENSITIVITY VEHICLE DETECTORS 43 TRAFFIC SIGNAL PULL BOX 44 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION 45 ADJUST MANHOLE TO GRADE | L.F. EACH EACH L.F. EACH | 54 3 1 50 3 | \$107.00 \$1,400.00 \$700.00 \$69.00 \$325.00 | \$5,778.00 \$4,200.00 \$700.00 \$3,450.00 \$975.00 | \$100.00 \$1,500.00 \$200.00 \$200.00 \$600.00 | \$5,400.00 \$4,500.00 \$200.00 \$10,000.00 \$1,800.00 | \$150.00 \$2,000.00 \$1,000.00 \$95.00 \$750.00 | \$8,100.00 \$6,000.00 \$1,000.00 \$4,750.00 \$2,250.00 |
| 46 METAL BEAM GUARD RAILING 47 DUST ABATEMENT 48 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - LITTLE LAKE MDP LINE B, STAGE 1 | L.F. L.S. L.S. | 110 1 1 | \$64.00 \$30,000.00 \$19,600.00 | \$7,040.00 \$30,000.00 \$19,600.00 | \$100.00 \$15,000.00 \$63,100.00 | \$11,000.00 \$15,000.00 \$63,100.00 | \$65.00 \$25,000.00 \$20,000.00 | \$7,150.00 \$25,000.00 \$20,000.00 |
| 49 NON-STORMWATER DISCHARGE OR DEWATERING - LITTLE LAKE MDP LINE B, STAGE 1 | L.S. | 1 | \$9,800.00 | \$9,800.00 | \$25,000.00 | \$25,000.00 | \$5,000.00 | \$5,000.00 |

Page 8 of 12

Project Number: 4-0-0265-01

| <i>Bid Open Date:</i> 07/22/2014 | | | UTAH PA CONSTRUC | | | TRUCTION NY, INC. | | TRUCTION CO., INC. |
|--|---------------------|-----------------|------------------------|----------------------------------|--------------------------------|----------------------------------|-------------------------------|----------------------------------|
| Item No. & Description 50 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | <i>Unit</i> L.S. | Quantity | Unit Bid \$4,700.00 | Total Bid \$4,700.00 | <i>Unit Bid</i> \$10,000.00 | <i>Total Bid</i> \$10,000.00 | Unit Bid \$4,000.00 | <i>Total Bid</i> \$4,000.00 |
| 51 NON-STORMWATER DISCHARGE OR DEWATERING - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | L.S. | 1 | \$1,400.00 | \$1,400.00 | \$5,000.00 | \$5,000.00 | \$1,000.00 | \$1,000.00 |
| 52 10'W x 8'H PRCB COVER < or = 10' 53 10'W x 8'H PRCB COVER > 10' | L.F. L.F. | 3,300 1,500 | \$764.00 \$767.00 | \$2,521,200.00 \$1,150,500.00 | \$965.00 \$1,050.00 | \$3,184,500.00 \$1,575,000.00 | \$1,050.00 \$1,200.00 | \$3,465,000.00 \$1,800,000.00 |
| | | | | \$8,475,115.00 | | \$8,738,502.50 | <u> </u> | \$8,741,691.00 |

Page 9 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| <i>Bid Open Date:</i> 07/22/2014 | | | MAMCO, I ALABE | |
|--------------------------------------|------|----------|-------------------|--------------|
| Item No. & Description | Unit | Quantity | Unit Bid | Total Bid |
| 1 MOBILIZATION | L.S. | 1 | \$950,118.07 | \$950,118.07 |
| 2 WATER CONTROL | L.S. | 1 | \$52,000.00 | \$52,000.00 |
| 3 TRAFFIC CONTROL | L.S. | 1 | \$270,000.00 | \$270,000.00 |
| 4 CLEARING AND MISCELLANEOUS WORK | L.S. | 1 | \$67,000.00 | \$67,000.00 |
| 5 EXCAVATION | C.Y. | 47,938 | \$5.60 | \$268,452.80 |
| 6 CHANNEL EXCAVATION | C.Y. | 298 | \$41.00 | \$12,218.00 |
| 7 HOT MIX ASPHALT EXCAVATION | C.Y. | 758 | \$60.00 | \$45,480.00 |
| 8 BACKFILL | C.Y. | 19,439 | \$8.00 | \$155,512.00 |
| 9 CONTROLLED LOW STRENGTH | C.Y. | 5,181 | \$85.00 | \$440,385.00 |
| MATERIAL (CLSM) BACKFILL | | | | |
| 10 FILTER MATERIAL | C.Y. | 1,625 | \$40.00 | \$65,000.00 |
| 11 GRAVEL FILTER MATERIAL | C.Y. | 35 | \$40.00 | \$1,400.00 |
| 12 SAND BEDDING | C.Y. | 53 | \$40.00 | \$2,120.00 |
| 13 TRENCH SAFETY SYSTEM | L.S. | 1 | \$405,000.00 | \$405,000.00 |
| 14 CLASS "A" CONCRETE, MERIDIAN | C.Y. | 24 | \$1,000.00 | \$24,000.00 |
| STREET CHANNEL TRANSITION | | | | |
| 15 CLASS "A" CONCRETE, MINOR | C.Y. | 163 | \$1,000.00 | \$163,000.00 |
| STRUCTURES | | | | |
| 16 CLASS "A" CONCRETE, CHANNEL | C.Y. | 24 | \$750.00 | \$18,000.00 |
| PAVING | | | | |
| 17 CLASS "B" CONCRETE, PARAPET WALL | L.F. | 12 | \$650.00 | \$7,800.00 |
| 18 CLASS "B" CONCRETE, MISCELLANEOUS | C.Y. | 60 | \$500.00 | \$30,000.00 |
| 19 JUNCTION STRUCTURE NO. 2 | EACH | 3 | \$6,000.00 | \$18,000.00 |
| 20 MANHOLE NO. 2 | EACH | 5 | \$6,000.00 | \$30,000.00 |
| 21 MANHOLE NO. 3 | EACH | 10 | \$2,000.00 | \$20,000.00 |
| 22 MANHOLE NO. 4 | EACH | 2 | \$6,000.00 | \$12,000.00 |
| 23 18" RCP, CLASS IV | L.F. | 149 | \$75.00 | \$11,175.00 |
| 24 24" RCP, CLASS IV | L.F. | 372 | \$82.00 | \$30,504.00 |
| 25 42" RCP, 2000D | L.F. | 1,298 | \$160.00 | \$207,680.00 |
| 26 60" RCP, 1500D | L.F. | 125 | \$250.00 | \$31,250.00 |
| 27 AGGREGATE BASE, CLASS 2 | C.Y. | 1,359 | \$52.00 | \$70,668.00 |
| 28 HOT MIX ASPHALT (HMA), TYPE A | TONS | 3,236 | \$100.00 | \$323,600.00 |
| | | · | | · |

Page 10 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

| | | | ALABE | BASI |
|---|--------------------------------------|-------------------------------|---|---|
| <i>Item No. & Description</i> 29 HOT MIX ASPHALT (HMA), TYPE C 30 TEMPORARY RESURFACING | <i>Unit</i> TONS TONS | Quantity 308 747 | <i>Unit Bid</i> \$210.00 \$90.00 | <i>Total Bid</i> \$64,680.00 \$67,230.00 |
| 31 6-FOOT CHAIN LINK FENCE 32 3-FOOT CABLE RAILING 33 MISCELLANEOUS IRON AND STEEL 34 REMOVE BURIED CONCRETE SLAB 35 REMOVE EXISTING ABANDONED 8" WATERLINE OUTSIDE RCB TRENCH LIMITS | L.F. L.F. LBS. L.S. L.S. | 160 12 23,905 1 1 | \$37.00 \$150.00 \$1.70 \$13,000.00 \$7,000.00 | \$5,920.00 \$1,800.00 \$40,638.50 \$13,000.00 \$7,000.00 |
| 36 EXPOSE LHMWD 16" WATERLINE FOR JOINTS RESTRAINING 37 REMOVE EXISTING 78" RCP, CATCH BASIN AND CONNECTOR PIPE 38 EXCAVATION AND DISPOSAL OF UNCONTROLLED FILL 39 SUSPECT MATERIAL STAGING AREA 40 TRAFFIC LOOP DETECTOR REPLACEMENT | L.S. L.S. C.Y. L.S. L.F. | 1 1,114 1 1,122 | \$4,000.00 \$11,000.00 \$20.00 \$20,000.00 \$8.00 | \$4,000.00 \$11,000.00 \$22,280.00 \$20,000.00 \$8,976.00 |
| 41 TRAFFIC SIGNAL CONDUIT 42 HIGH SENSITIVITY VEHICLE DETECTORS 43 TRAFFIC SIGNAL PULL BOX 44 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION 45 ADJUST MANHOLE TO GRADE | L.F. EACH EACH L.F. EACH | 54 3 1 50 3 | \$115.00 \$1,500.00 \$750.00 \$115.00 \$400.00 | \$6,210.00 \$4,500.00 \$750.00 \$5,750.00 \$1,200.00 |
| 46 METAL BEAM GUARD RAILING 47 DUST ABATEMENT 48 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - LITTLE LAKE MDP LINE B, STAGE 1 49 NON-STORMWATER DISCHARGE OR DEWATERING - LITTLE LAKE MDP LINE B, STAGE 1 | L.F. L.S. L.S. L.S. | 110 1 1 | \$70.00 \$115,000.00 \$10,000.00 \$1.00 | \$7,700.00 \$115,000.00 \$10,000.00 \$1.00 |

MAMCO, INC. dba

Page 11 of 12

 Project Number:
 4-0-0265-01

 Bid Open Date:
 07/22/2014

Page 12 of 12

| <i>Bid Open Date:</i> 07/22/2014 | | | MAMCO, I ALABI | |
|---|---------------------|----------------------|------------------------|--------------------------------|
| <i>Item No. & Description</i> 50 STORMWATER AND NON-STORMWATER POLLUTION CONTROL - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | <i>Unit</i> L.S. | Quantity 1 | Unit Bid \$5,000.00 | Total Bid \$5,000.00 |
| 51 NON-STORMWATER DISCHARGE OR DEWATERING - STETSON AVENUE CHANNEL, STAGE 7 AKA HEMET MDP LINE D | L.S. | 1 | \$1.00 | \$1.00 |
| 52 10'W x 8'H PRCB COVER < or = 10' | L.F. | 3,300 | \$1,040.00 | \$3,432,000.00 |
| 53 10'W x 8'H PRCB COVER > 10' | L.F. | 1,500 | \$1,192.00 | \$1,788,000.00 |

\$9,374,999.37